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No. & B X 1134 9 L1137 ) LEE HBITE 27
1|5E X2k MR |REET (10BaLL ) |#&HEE 3 (10BqLLF) | #HE 3 (10BaLLF) | M=
2 [FvRY XK A |REET (10BaLL ) |#RHEE T (10BaLLF) | #HEE T (10BaLTF) | iR
3 |z X6tk TN [BEET (10BqLL ) |#HEET (10BLLF) [ @9 (10BqLLF) | #iEs
4 |t=1+D A |#HwEET (10BgLT) 12.84 12.84 mtE
5 |fzITDZ BAE |REET (10BqAT) 75.77 75.77 i
6 [=1TdZ fEiR  |#®EE9 (10BgLTF) 11.78 11.78 miE
7 |=F0C BAE |BREET (10BqAT) 12.79 12.79 g
8 [=lrd RE |#B®EET (10BgLT) 106.25 106.25 miE
9 |fzlTDZ R |BmEET (10BqLT) 50.17 50.17 miE =
10|fz(FD(F) X2k | WA [BREET (10BgAT) |#REE T (10BaL F) [ #HEEF (1B T) | iR
11 |fzIT D (F|) HE [HHEE3 (10BgLT) 80.94 80.94 miEst
12[5F X58(4K MR |&REET (10BalF) |[#&RHEE 3 (10Bal F) | #HRHEE 3 (10BaL ) | MR
13 |5 AE |BRHEET(10BaAT) 11.01 11.01 miE =
No. an B X D L134 0 L1137 IO LEE BITE 25
1 |FvRY Xet&ik TN |[BEET (25BqA ) |9 (25BalAT) [ 9 (25Bald ) [ FERRIER
2 [ ITURY Xk A |REE T (25BalL F) |[#RE 3 (25BqL ) | M3 (25BaA ) | JERIER
3 |RFYTIURY X5kl TN [T (25BqlLT) |[#&HE T (25BalAF) [ &S (25BqLh ) [ FERRIER
4 |fzIFDT X18FR{K TR |REE T (25BalL ) | B3 (25BqlL ) | HE 3 (25BqA ) | IEREER
5 |fzITdZ fnE 86.00 417.80 503.80 IR
6 [=lTdC RE |HBEE3 (25BqLTF) 29.50 29.50 JERFIER
7 [zFDZ A |#H®EET (25BgLT) 30.30 30.30 FERRIE R
8 [ztd HE [RHET (25BqLT) 59.10 59.10 FER IR
9 [zHDZ(FB) X8tk | HA [HWEET (25BqAT) [HEET (25BqAT) [ &9 (25BqlL ) | FEREE S
10 [f=FhE X111&HK MmN [HBEE3 (25BqLL ) |[#BHE T (25BallTF) [ @9 (25BalL ) | FERRIER
1|25 X3MRIK TN [BREE T (25BqL ) [T (25BalAT) [ 9 (25BalL ) | FERRIER
12 [5F X121%4K MmN [HBEEI (25BqLL ) |[#BHE T (25BalLTF) [ @9 (25BalL ) | FERRIER
1B[IF3NAE X4EIK TN [BEET (25BqL ) |[BHE T (25BalAT) [ 9 (25BalL ) | FERRIER
14 |Hhol X51K TN |BRHEET (25BqlLT) |BRHEET (25BqLl F) | BT (25BqLA ) | FEMIER
15 |HBU HA [HEEd (25BqLT) 59.50 59.50 JEmgiER
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